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405 XHAHE SHI 2,200 0 2,200
01 RAUSEH S| 2,200 0 2,200
OSHRSEHAT AF2E 7Y 1,000,008+ 1,000
OSH25H2/T DWDE0/0] 7Y
400,0002 *3CH 1,200
WS MBHY T4 60,549 51,657 8,892
SR/l 9,321 8,890 431
101 2121t 6,261 6,028 233
04 JIAHZ2RELS 6,261 6,028 233
OBHED| WAAY QIR 37,6302« 752 5,645
O4URE Jl2=eg2 5,645,002 *10. 9% 616
206 W2 3,060 2,862 198
01 T2l 3,060 2,862 198
OLAAY SEU(FHLR) 1,70021%24 £ «752 3,060
MEEAIY 51,208 42,767 8,461
101 2121t 34,778 26,317 8,461
VIBIEDEESEERS 34,778 26,317 8,461
O+2% gro2y 34, 40021 %23 602 4,128
O4URE Jlp=g2 4,128,000 +10. 9% 450
OB MEFH SJTH|(LOYT2 FE) 30,200
-ol g 200, 0002 2084 +72 28,000
-2 o 2O 10,0002 x20% 2,200
201 L2y 14,700 14,700 0
01 AR eIt 14,700 14,700 0
06. 4%t 2 14,700
-BHOHEA FUIYXE 350,008 %6047 14,700
206 TWEH| 1,750 1,750 0
NRE 1,750 1,750 0
OfHLASE 7Y 1,750
~PPILCH 25021 %7, 0000H 1,750
SoHY NAMLA(RELT AL /X ALEA) 130,720 142,828 ~12,108
NEESIEE PV 130,720 142,828 ~12,108
EI=E] 50,000 50,000 0
401 AlZHIL 2O 50,000 50,000 0
01 Al 50,000 50,000 0
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SH: S

S
X XH - EH
o= S

el XY

SNBSS - MBAY - BES 0 & 24 e {imE=Eh
OLnE =0IMetHoIALY 50,000,000 14! 50,000
A2REX AL 80,720 92,828 A 12,108
401 AIEHIZ 208 80,720 92,828 A12,108
01 Al&H| 80,000 92,000 A 12,000
gHS dd & E 20,000,000& =14 20,000
OgeHe] =2 ZE S AHL=100m)
20,000,000& » 14| 20,000
ogdiel =2 E& S AHL=200m)
20,000, 0003 14 20,000
OdlF 12l =2 =43 AH(L=100m)
20,000, 0003 14 20,000
03 A&=20HYI 720 828 A 108
OARE =U=JAAY ALY
80,000,000& *0.90/100 720
HY 2L ZHI(SHH)(IIEH/IIEH 209,393 212,584 A3,191
I8 2 30,381 29,532 849
FANIHE2EY| 30,381 29,532 849
101 el 24l 18,661 17,772 889
03 RIIHAZENNE 18,661 17,772 889
OZg=23t2y ey 18,661
-JlEs 29,0102 #1313 9,081
-&0= 756,680 * 12 *300% 2,271
-EE SO 756,680 * 12 *120% 909
-JHH 2 &l 50,000& x1H+128 600
W s8] 30,000 x1H*12& 360
- Al 80,000 x1H~12& 960
-E 60,0003 «1Z ~12& 720
B k= 29,0103 x1H «52& 1,509
-AXt=E 29,0108 x1H+16< 465
“AN2Ze 2R eE 5,440 x 18 #22A1 2H+12E 1,437
25013 29,0103 » 12 »2 « 122 »50% 349
203 ¥ =&l 11,720 11,760 A0
01 JI22FLR=LH 6,600 6,600 0
OJI 223 HRF4] 6,600, 000& 6,600
02 FAINAMHRFAHI 920 960 A0
OZ PR =] 40,000& 23 920
04 REN2ILRF=LH 4,200 4,200 0
ORN2ILPFAHI (B :23Y)
350,000& 128 4,200
Jl2&Hl 179,012 183,052 A4,040
FN2SHI 107,372 107,412 A0
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S E3
X XH: SH
o T (=}

I

=l tl (9 &e
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
201 LetEdH| 107,372 107,412 A40
01 AtE22/Hl 30,510 30,910 A 400
O1.get=ZH| 15,100
-EA2Y 2Et+=2H| 15,100,000& 15,100
03.22+¢ 8,650
- =2 50,000 *(112+61) 8,650
O5.=2 &l 4,600
-REA2E S| 4,600,000& 4,600
06.2x=2 2,160
-HE2Y FHY 2,160,000& 2,160
02 2234l 76,862 76,502
O1.3323LHA 55,170
-&Jl=z 9,270,000& 9,270
= 900,000 900
-II2ERS 40,000,000& 40,000
—SENERES 200
T 100,000& 100
b= 100, 000& 100
—SNESESRER 3,800,000& 3,800
-MHEHAS =S 700
st2(48) 700,000 *1CH 700
-IPIVE EEESY AIEE 25,000 123 300
O2. 892 H| 6,104,000 6,104
O3. A& ZHIR Xl 12,347
-2 SR X 5,000 *8245 4,120
A= 7 Al 5,827,000 5,827
-HeE )| R XY 2,400,000& 2,400
O4. Xt&k & e 3,241
-st2(AE) 3,241,000& «10H 3,241
=EESSIR] 68,640 68,640
202 (4Hl 68,640 68,640
02 EAHNYI 68,640 68,640
OZ A0 260,000& «22H 123 68,640
At 2 2 FHSHI 3,000 7,000
405 KHoHESHI 3,000 7,000
01 T =S HSHI 3,000 7,000
OuWHIl 7¢ 500, 000& *3CH 1,500
OEFofl+==% W= 1,500, 0003 = 1CH 1,500
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S B

HE: I SHUNLY(UNDIHE/ANHE)
chel: Z0islE MECOQ (cel @
SN SR (EH) - MRAY - B &y e 2
cl - BHEESEYS 117,540 117,540 0
scld=¢ 108,240
Jlesd 200,000& »33& «12& 79,200
-&0= 200,000 33 #2323 13,200
-2o g 20,0003 x33H 25|« 12& 15,840
SIS 25,0002 *186H *22] 9,300
29 41,948 23,230 18,718
2Hl 14,068 4,530 9,538
04 JIZtHZE2NSES 14,068 4,530 9,538
OFIIEs2 SFFH(cALXel #E) 4,530
-2y 200,0002 »3& +7& 4,200
-28 & RU3H 110,000& «3H 330
OFIIASE 2R 34,4003 »1H 250 8,600
O4U2E JI2RE3 8,600, 0003 *10.9% 938
2ot 27,880 18,700 9,180
01 AtS22iHl 14,980 12,140 2,840
1. €8 =2H| 7,700
“HIasE et=ZH| 150,000 x12& 1,800
“HllEss2 3,100
Ss2 det=2H| 150,000& =122 1,800
FoZHI S| 100,000& =12 1,200
P = e | 100, 000& 12l 100
-= X3 2,800
SXal2 det=24| 1,000,000 1,000
HASE U SNUSE DY
100,000& =12 1,200
Pl S = e | 200,000 *13] 200
S83 FAdl 200,000& *13! 200
Hojetdate| s = 200,000& 200
O3.2g8+¢ 7,280
-H}JIEs2 Z20Y 24
35,0003 x2H #2 Al 2+ x523= 7,280
02 232234l 12,900 6,560 6,340
O1. 232 AHA 9,900
a3z d &Il 500,000& =12 6,000
-}llEeH 2,400
&I123 100,000& =122 1,200
H3e= 100,000& «12& 1,200
-= X3 1,500
&= 100,000& =12 1,200
A0l MHEE 100,000& 22 200
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A EIH

HE: M| ZHUT2Y(YUDIHT/ABHT)
et ZOIBtE BHGCO (el @
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
TEHEINNEREEZ 50,000& 23] 100
(OXWAR=F3:1E=IN L] 3,000
-AJ|IEsas HAES I 500,000& 500
-=2X3& A=K X Y| 2,500,000& 2,500
dj st MESH T4 54,823 44,924 9,899
groa g 9,321 8,890 431
101 1A H| 6,261 6,028 233
04 JIZtMI22XNHsE2= 6,261 6,028 233
O0dt&E )| SAAIY o1l 37,630& x2H »75 5,645
O4UIEE J|a82E= 5,645,000 x10.9% 616
206 i = Hl 3,060 2,862 198
01 M=Hl 3,060 2,862 198
OUYAIY SEFUH(FLR) 1,700&%24 § x75L 3,060
MESHA FH| 45,502 36,034 9,468
101 Q1A H| 36,352 31,084 5,268
04 JIZHHMZ2ZANSE s 36,352 31,084 5,268
Ot A o1l 34,400 x 14«30 1,032
OgkLsr 2ol el 34,400& 1 *250 8,600
O4UIEE D& 82E=2 9,632,000& x10.9% 1,050
Odlietdt & JiZzstAA™H|(=ole Xt &HE) 25,670
-0 200,000& x17H~7& 23,800
28 2 20&| 110,000& x17H 1,870
201 B2 AH| 7,700 3,500 4,200
01 At 22l 6,380 3,500 2,880
O1.¢et=2H]| 2,880
YA SH(YUOH ) SSS A A dBtxEH|
120,000 *200 A~ + 122 2,880
O6.dxtz 3,500
-t E A EHHIYXE 350,000& *2CH 5 3,500
02 ss2494l 1,320 0 1,320
O1.332=2< Al 1,320
~U IO SS3HEA 1,320
cEI|=2 80,000& x12& 960
e 30,000& x12& 360
206 M2 H 1,450 1,450 0
01 M=Hl 1,450 1,450 0
OdictagAE2E ¢ 1,450
—PPLCH 250& x5, 0000H 1,250
-F38= 2,000& *100E+cH 200
OIS KAHLAS (RELT AN /X AL T A 130,720 140,810 ~10,090
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A EIH

M ZAIH XNSENLEAS (ZEL XML /XNSL Al
CHel: XIS F0I=2AAY (St &=
o i} _ _ bolEN=
N33 . c2(3H) - NEME - HES agell @;OH Hl =2
XS =012 ALY 130,720 140,810 210,090
THZEALH 50,000 50,000 0
401 Al&H| L LY 50,000 50,000 0
01 Al&H] 50,000 50,000 0
OARD ZQIMETOIALR 50,000,000 * 14! 50,000
T2 XA H e 80,720 90,810 210,090
401 Al&HI LS 80,720 90,810 210,090
01 Al&H] 80,000 90,000 10,000
OedHE dld o Z4 20,000, 000 1Al 20,000
O/tN 2l s2 Z&ZAHL=150m)
20,000, 000! 14l 20,000
ORX22| =2 ZEZAHL=70m)
20,000, 000! 14l 20,000
ontslel s42 842 AHL=100m)
20,000,000 14! 20,000
03 Al&=20HHI 720 810 A90
OAFRE ZQ=2AAS Al R HH|
80,000,000 0.90/100 720
HESHZH|(FIIH)(IIEH/DIIE 197,807 205,107 A7,300
Qlad 2] 31,504 30,859 645
SHoE2HY| 31,504 30,859 645
101 Q14 20,024 19,339 685
03 PIIHAIZXES 20,024 19,339 685
o=2xsa el 20,024
22 29,0102 x 12313 9,081
-A0 2 756, 6802 * 124 x300% 2,271
-HE S| 756,680 * 19 «120% 909
-IEEXH 30,0002 x 1«12 360
DA 2 X H] 50,0002 x 1 x 128 600
“bELY 60,0002 x1H x12& 720
—AXSG 29,0102 x1H*21 610
-F=54g 29,0102 x1H %522 1,509
AR 2R 5,440 x1H*22A| 2H+ 128 1,437
-H o FAH| 80,000 x 1 x12& 960
—2E=JHA2 29,0102 12 +9 « 122 %50% 1,567
203 R =ZAH 11,480 11,520 A40
01 D22 AR E=EIH| 6,600 6,600 0
Ol |22 AL =&H| 6,600,0002 6,600
02 HRAIMMASEZH| 680 720 A40
OX AR E=KIH| 40,000 *17Y 680
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SA EDI
Fu: WESYA (F0I2)OIEHIIED
ool QE 2| (9 E2
S ED .S (B0) - NRAY - BAS ok o S ==
0f & o8
M4 BARYAREY 4,200 4,200 0
OFHSAALZ DY (ZR:17)
350,000& x12& 4,200
|23l 166,303 174,248 AT,945
M2 98,043 97,786 257
201 LEt23| 98,043 97,786 257
01 AtS2t2ldl 26,755 26,848 A93
O1.4B=ZH| 12,875
-2FNE2Y ite2t| 12,875,000& 12,875
O3.29=% 8,650
- =Ay| 50,0002 *(112+61) 8,650
O5. = &l 3,230
-EA2E SEHl 3,230,000 3,230
06.dxt = 2,000
-HERYE U=z 2,000,000 2,000
02 232ZH| 71,288 70,938 350
O1.35224 A 53,470
-Mo|= 9,270,000 9,270
20l +E AMEZ 200,000& 200
2SR 3 40,500,000& 40,500
- REZ 200
CRHE 100, 000& 100
A= 100,000& 100
-IPTVEEEESY MEZ 25,000& 128 300
—SNLERES 2,300,000 2,300
“XEMASAS 700
2 (LE) 700,000 *1CH 700
O2. A ZH| 7,368,000 7,368
O3. Al & &l = X8| 7,209
-Jt2 =Xl 5,000& 6565 3,280
-A= s XYl 2,429,000 2,429
=== I RPN I 1,500,000& 1,500
O4. xtgt& | 3,241
-SE(a¥) 3,241,000 = 1CH 3,241
SFEHH 63,360 71,280 ANT,920
202 O4H| 63,360 71,280 AT,920
02 XY 63,360 71,280 ANT,920
OF NI 330,000& *16H 123 63,360
& 2 EZFSHI 4,900 5,182 AN282
405 XHaHFESHI 4,900 5,182 AN282
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S RS
M (|20 SHUYSH(YVDTUT/YHE)
CHol: FOISHE HHED (Etel: &8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
301 Lere A= 35,650 35,650 0
05 S-2 - BEESEAS 35,650 35,650 0
OselZ+y 32,800
g 200,0008! *10% * 122 24,000
-4 012 200,0002! *10% *23| 4,000
-3lo g 20,0002 *10% *23] * 122 4,800
OptE+g 25,0002 *57% %23 2,850
23 29 13,058 16,508 13,450
201 ety 13,058 13,508 450
01 At el 4,684 4,684 0
O1.2ptag| 4,684
-=X32 Yt 1,000,0002 1,000
-HASE 2 HFASE 7Y
100,000 * 12 1,200
S E =P 500,000% 13 500
-293 Ay 200,0002! *13] 200
-RoIBHIEY +48 132,0002 12 1,584
~HI|OE R A4 200,000%! 200
02 22| 8,374 8,824 A 450
O1.BZR3LHA 3,496
-®II223 130,0002 * 128 1,560
—MaT AEE 50,0002 *123] 600
-®3R3 35,0002 122 420
-HEIN AEE 68,0008+ 122 816
—EAWL YD 50,0002 %23 100
02.912H| 2,567
-22) 1,100,000% 1,100
-tz 1,467,000% 1,467
O3. Al& ZHIR AL 2,311
~AS R 1,711,0009 1,711
L LEEE )| XY 600,000%! 600
W MBEZY E4 46,825 38,755 8,070
oot 2o 9,321 8,890 431
101 Q14| 6,261 6,028 233
04 JRAMIEXS S 6,261 6,008 233
OBHED| WoAIY Q12 37,6308 %28 752 5,645
osEd JlERYa 5,645,0002! *10. 9% 616
206 THE U 3,060 2,862 198
01 MHEH 3,060 2,862 198
OYAANY SBRU(FHLR) 1,7002 %24 § +75 3,060
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SN

E: (20 SEUTSY(YNITHT /L)
Sl WIS MEBHA E4
_ _ _ N E
A BB C(3I0) - NIRAY - BaS Aol Gil it o
2a2IY| 37,504 29,865
101 el H] 32,489 24,850
04 JI2tHIZ2E2ENEE S 32,489 24,850
OdferdE A QIR 34,4003 x2H 30 2,064
O4U2E 122 2,064,000& x10.9% 225
OBN 2L 2 (colgniel &5) 30,200
ol 200, 0002 *20 72 28,000
-2 & 2 110,000& 20 2,200
201 sty 3,500 3,500
01 AtE22/H] 3,500 3,500
06. 212 3,500
-ofetE A FHI Xt 350, 000& »2CH x5 3,500
206 M=H| 1,515 1,515
01 M2l 1,515 1,515
OsforgA8E 1,515
-PPLCH 250& x5, 0000H 1,250
-RE82 2,000 *50EtcH 100
-BIDE A2 330 «500Z dll 165
HEH XNSHLAS (S EL KGN /XNALT Al 130,720 130,720 0
TR =JAAN 130,720 130,720 0
EINETE 50,000 50,000 0
401 AlEHIL ST 50,000 50,000 0
01 Al&H| 50,000 50,000 0
OAaR2 FoIMESmI ALY 50,000,000 =14] 50,000
A2 X SAS O 80,720 80,720
401 Al&HIZL=ROHYI 80,720 80,720
01 Al&H| 80,000 80,000
SS Ae o 15,000, 00024 14! 15,000
OZAME 2ESE F 52 EZE3AHL=80
m) 10,000,000& * 14! 10,000
O2ZAt2el AFAFENRIE XIS & 8IS AH(L=100m)
20,000,000& =14 20,000
OUSH22l OFS e AT A
20,000,000& * 14! 20,000
ouZ1el nrelsd 5 == ZEHI3AHL=50m)
15,000,002 14} 15,000
03 Al&=R0HHl 720 720
OATS FULAAMY AL LY
80,000,0002 *0.90/ 100 720
HHE2AHUI (WEH)(IIEH/DIE) 160,110 144,385
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SA HEH
M HY2SZHI(HES)(IIEH/IIE)
el IE2 ] (el &)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01l &t o
QI 2 28,607 28,176 431
FAH2E 28,607 28,176 431
101 el 4] 18,487 17,976 511
03 RIAHAZZTHE 18,487 17,976 511
Oo=sXz2 2ele2y 18,487
=g 29,0103 x1H+313& 9,081
-a0s 756,680& * 12 *300% 2,271
-HEF I 756,680 1 «120% 909
-~wWE2 & 30,0003 «1Z~12& 360
-JHH 2 2=l 50,0003 «1Z «12& 600
-EE 60,000& x1H 128 720
-AXt=E 29,0102 x1H+162 465
] 29,0103 »1H+522 1,509
25013 29,0103 x 1 1«12 »50% 175
“AIZR 2R 5,440 1B «22 Al 2tx 123 1,437
- MG AH| 80,000& x1H*12& 960
203 ¥R =& 10,120 10,200 A80
01 JI 22 YL=AHI 6,600 6,600 0
OJI 22 L=48H| 6,600,000& 6,600
02 HIIMMHRF=EH 520 600 A80
OZ I H =] 40,0003 «13¥ 520
04 BEN2IHRFAH 3,000 3,000 0
ORNSYLRETH (ZY:13Y)
250,000 «12& 3,000
Jl=&Hl 131,503 116,209 15,294
A2 61,023 60,729 294
201 et 61,023 60,729 294
01 AtS 22/l 24,440 24,496 A56
O1.d8t=EH| 11,450
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M 5TE SHUUNSY(UUDTUE/YUHE)
CHol: FRIBIE MECD (el &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
301 LEtEAZ 123,340 123,340 0
05 -2 -deEs8aa3 123,340 123,340 0
Oscel&dg 108,240
x4 200,000& x33H »12& 79,200
a3 200,000& x33H x23| 13,200
-39 =&t 20,000& *33H »23| x12& 15,840
Oogtdg 25,000 *302H *23| 15,100
NE2e 29 19,688 0 19,688
101 o1 21| 9,538 0 9,538
04 JIZHMZ2Z2AsSE 9,538 0 9,538
A2 M 2He|olf e 34,400 x 1 x250 8,600
O4HEE J|aedg=2 8,600,000& *10.9% 938
201 B2 AH| 3,600 0 3,600
01 AP Zeltl 1,200 0 1,200
O1.¢8t=2H]| 1,200
~A2E A det2H| 100,000& *12& 1,200
02 ss2494l 2,400 0 2,400
O1.332=2<LH A 2,400
-MI|e3 100,000& *12& 1,200
-0l Yl 3HAES 100,000& «12& 1,200
207 Ao 350 0 350
02 & AHIHEH] 350 0 350
OZ ADBTFH] 700& x500& 350
301 2BEtE A= 1,200 0 1,200
10 HAIAHIEAZ 1,200 0 1,200
ONSETMHZ RESAK 214
2,000& x2H x252 x 12 1,200
405 KHAHFE S 5,000 0 5,000
02 =ML 5,000 0 5,000
O M7l 10,0003 *500 5,000
S MEEH XM 46,626 38, 149 8,477
groa | 9,942 9,483 459
101 6,678 6,430 248
04 22 NsSES 6,678 6,430 248
AAFY OI2Q 37,630  x2H 80 6,021
| 222 6,021,000& x10.9% 657
206 3,264 3,053 211
01 3,264 3,053 21
GAY SFU(FLSR) 1,7002 %24 £ 80 3,264
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M2 SRS SHUTLY(LUTIHI/AeHT)
el S MBEY T4 (Sl &2)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2
MEEATY 36,684 28,666 8,018
101 o124yl 34,778 27,050 7,728
04 JIAH2ZS LS 34,778 27,050 7,728
OBZEEA 2019 34,400%1+12+1202 4,128
O4EE JBRL2 4,128,0002*10. 9% 450
OB MBFH SATY (LoAX2l HE) 30,200
ol 200,0002 x20% +72) 28,000
28 2 2R 110,000 %202 2,200
206 T2 1,906 1,616 290
01 T2l 1,906 1,616 290
OZZ3EA 428 7 1,906
SMYDIBSHEE(502) 1,108 %1,4000 1,540
LR 3302 *1,00004 330
-KIH 3,0002 2% *63] 36
52 NAMLA(RELTANL/TAL T A 63,000 55,000 8,000
NEESIEE PV 63,000 55,000 8,000
N 40,000 40,000 0
401 Al&HIL 20| 40,000 40,000 0
01 Al&H] 40,000 40,000 0
OATID ZQIMETHOIAY 40,000,000 14! 40,000
AR D XIS ARSI N 23,000 15,000 8,000
401 AlZHIL 2O 23,000 15,000 8,000
01 Al&H] 23,000 15,000 8,000
OUHE A8 o P2 15,000,000 14! 15,000
OolRoIZAL AdE SR
1,000, 00024 *87H 2 8,000
HHSHFU(ERS)(DIEHIIE 100,817 79,616 21,201
ol 2| 10,120 10, 120 0
e REEE-TE 10,120 10, 120 0
203 YREAY| 10,120 10, 120 0
01 JlZ2Y AR =Y 6,600 6,600 0
Ol YR =Y 6,600,00024 6,600
02 HREAIIAYREAY] 520 520 0
OBRAIMYRETY| 40,0002 *1384 520
04 EASYAREY 3,000 3,000 0
OSN2YALERY (FH:13Z)
250,000 * 122 3,000
0l =2t 90,697 69,496 21,201
2N 2l 37,137 32,226 4,911
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O1.dert 9,825
-EAN2E Letx8 9,825,000& 9,825
OLN=1=1:] 2,470
-EA24 2,470,000& 2,470
O6.gx& 1,500
—HIE=2E 1,500,000& 1,500

02 3323l 23,342 19,101 4,241
O1.2338= 13,919
-HIIe=s 7,519,000& 7,519
== 1,000,000& 1,000
-HIAMNERES 200
NI 100,000& 100
b 100,000& 100
FNgsRES 4,200,000 4,200
-IPVEES A SY 25,000& 123 300
“AEMAZSUS 700
32 (3E) 700,000 *1CH 700
O2.¢ &4 2,257
=3I 1,376,000& 1,376
= 881,000 881
O3. A& &H 3,925
-d==X 1,525,000& 1,525
=1 2,400,000& 2,400
O4.xt&edet 3,241
-32 (38 3,241,000 = 1CH 3,241

=0 40,560 34,320 6,240

202 (4Hl 40,560 34,320 6,240

02 40 40,560 34,320 6,240
O M 260,000 «13H 128 40,560

& 2 SSFSHI 13,000 2,950 10,050

405 XtobE SHI 13,000 2,950 10,050

01 ML ESF=H 13,000 2,950 10,050
O&X=A 4,000,000& = 1CH 4,000
Ost=(&dg) 1z 7¢ 9,000,000 = 1CH 9,000
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SH-EH . C(BH) - NRAY - BES O] Ak 4 il b o bRz
05 5.2 BEES2A3 76,980 76,980 0
oselEag 68,880
lEeg 200, 0002 *2124*122 50,400
SGE 200, 000! +212 %25 8,400
-5lo4g 20,0002 #2124 +25] * 122 10,080
Opra4g 25,000 * 1628 *23] 8,100
WS MBHY T4 37,948 30,057 7,891
TR/ 7,748 7,407 341
101 @121t 5,844 5,626 218
VIBEBTEES =P 5,844 5,626 218
OBtED| WAAY Q182 37,6308 «2Y+70L 5,269
4R JlBRE2 5,269,0002 *10. 9% 575
206 W2 1,904 1,781 123
01 T2l 1,904 1,781 123
ORAAY RRU(FLR) 1,700 %16 £ +70 1,904
MEsAFY 30,200 22,650 7,550
101 2121t 30,200 22,650 7,550
04 JIAMZ2RELS 30,200 22,650 7,550
OUOIE S#ZXNZO0N(LQ U2 BE) 30,200
~ol =29 200, 00021 #2024 72 28,000
-2 o 2O 10,0002 x20& 2,200
CHOIS XIHZ ALY (REL XN /NHUTAI) 68,000 58,000 10,000
NEESIEE PV 68,000 58,000 10,000
WEIE=E] 40,000 40,000 0
401 AIEHIL 2 CH] 40,000 40,000 0
01 Al 40,000 40,000 0
OATRD FUMEHOIAY  40,000,0008 14! 40,000
ATDR A N 28,000 18,000 10,000
401 AlZHIL 2O 28,000 18,000 10,000
01 Al 28,000 18,000 10,000
ogYs dE U B4 15,000, 00024 14! 15,000
OEADFEY $HS S| 22BA
5,000,000 14! 5,000
OOZIOIBRAL AEE X
1,000,000 %87} 4 8,000
X2 A (THOIS) (JIEHIIE) 9,808 82,552 14,256
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2A: Hols
A HA2AAHI(UO0IS)(IIEH/IIE)
& QI 2AY| (ctel: &
S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
203 ¥R =&l 10,080 10,080
01 J|22SHFF=&HI 6,600 6,600
OJI 22 HRF48| 6,600,000& 6,600
02 FRAAINMAHSFAHI 480 480
OZAINAHRFAH| 40,000 x 12 480
04 ENRYYAREAY| 3,000 3,000
OR N2 2ETY (Ha:122)
250,000 «12& 3,000
| =&t 86,728 72,472
FN23HI 36,738 31,800
201 Let2d] 36,738 31,800
01 AtS 22l 13,380 12,710
O1. 2 Et=EH| 9,600
-EA2Y LEt=ZH| 9,600,000& 9,600
O5.= &l 2,280
-EA2Y =gl 2,280,000& 2,280
O6.9x=z 1,500
-HERY FHYex= 1,500,000& 1,500
02 =234l 23,358 19,090
O1.2E523ZHAl 16,100
-HIIes 9,500,000& 9,500
=ER3 900,000& 900
-SENERES 200
=i 100, 000& 100
Aa= 100, 000& 100
—ENYSESRER 4,500,000 4,500
-HE MBS 700
sE(48) 700,000 *1CH 700
-IPIVEEXESY MEZ 25,000 123 300
O2.4 2 H| 927
=3 927,000& 927
O3. A& ZHI= Xt 3,090
-A2 7 Al 990,000& 990
== g-UWIE=PN]=] 2,100,000& 2,100
O4. XHee el 3,241
St (4 d) 3,241,000 «1CH 3,241
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O M 260,000& 12 »12& 37,440
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